
Math 11022 Trigonometry Spring 2015
Worksheet 2.2 Instructor: Matt Alexander

Instructions: Verify the following identities.

1.
sin2 θ + cos2 θ

cos2 θ sec2 θ
= 1

2. 2 csc2 β =
1

1− cosβ
+

1

1 + cosβ

3.
sec2 θ − 1

sec2 θ
= sin2 θ

4.
(
sec2 x− 1

) (
sin2 x− 1

)
= − sin2 x

5. cscx− sinx = cosx cotx



6. csc(x) + cot(x) =
sin(x)

1− cos(x)

7.
tan2 θ

1 + sec θ
=

1− cos θ

cos θ

8. tan3 x = tanx sec2 x− tanx

9. sin3 x cos4 x =
(
cos4 x− cos6 x

)
sinx

10.

√
1 + sin θ

1− sin θ
=

1 + sin θ

| cos θ|


